XYZ,=97.93 , 1000 , 118.95 69 Y,=Y-50 69

azo[(x )19
bi-balz/ 610,
=1, b,y =04
x, =0,110,B, = 0,700
Crg=[AF+BA 56

6 OstwaldFarben (o)
von maximalem (m)C,g im
linearen Farbenraum (C,g ,. '
} 2 oz Ve, o
Lichtart Q00, Y,,=10Q Y,=0 d
Name BerechX, V. 2, %y, A A
567775 6105 39.04 028 06081 0.3889 596 487

R

a
Y, 4927757798 94.36 7.21 0.4343 0.5255 570 462
G, 492567 1713 55,52 7.16 02146 0.6956 535 535¢
C, 380_56737.07 6115 118.9 0.1707 0.2816 487 596 Parameter:
B 3804922014 583 111980.1459 0.0422 462 570 Y & Name
M, 567_492 80.99 44.67 112.030.3407 01879 535535 f

, 567 1
W, 380_775 97.93 100.0 118950309 03155 100% Lichtart Q00
N, 380775009 01 011 03089 03154 0% Y,,=100 Y,=0
Z, 380 7751762 180 2141 0309 03155 18%
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